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T EAhT S” e |
F)  SIIH UK TG G S8 TR |

Fill in the blanks with suitable words. (5x1=5)

¥, O M I St L AT TR LT I |
M shell of atom can accommodate maximum .......... electrons.

K. R foearer gemr YN R g e B |
Green plant releases ............ gas during photosynthesis.

g e 9O W fae (V) SR |
Tick (V) the correct answer. (18x1=18)

% TIAVSTAT HEAT STZATATES, YAHU, AT, AhISIS AHASE qAT T TAIGESH! WA TSHT
% FWX g1 ? What is the effect of the increment of carbon dioxide, dust, water vapour, sulfur
dioxide and other gases in the atmosphere?

a) gae gwTa @ (Increase in greenhouse effect)
b) &S 9@ &1« gx (Depletion of Ozone layer)
c) &« wguur g4 (Water pollution)

d)  sier/gl s sms= (Occurrence of storm)

7. This question is kept blank.
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5. IEh GRS SFAT B HATTH! THT AT [T TIAGATE T I GEAT T IO T
EATHl FRA F &l 27

What is the cause when a piece of iron or magnetic material is placed at a magnetic field of a
magnet, magnetic properties are created in the material?

a) TAFH! Aaw tagrr (Molecular theory of magnetism)
b)  IF@F IYUET (Magnetic induction)
c) fasq =era SuureT (Electro-magnetic induction)

d) =& &3 gaar (Magnetic field strength )

Hiex MEMT AEE TATH FGHT FF THRSB! TAT TART TR, ?
Which types of mirror is used as side mirror in vehicle ?

a) Fbs TAT (Concave mirror)

b) FHaq A1 (Convex mirror)

c)  |Ha« AT (Plane mirror)

d)  mer AT (Spherical mirror)

10. This question is kept blank.
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R®R

9%

G TAD G TAGHEN FHT el &l ?
Which one of the following is the correct formula of common salt?
a) NagCl b) NaCl,

¢c) NaCoO, d) NacCl

Afepe AT (W g WS H AN A & & ?
Which of the following is molecular formula of baking soda?
a) NaCo, b) NaH,CO,

C) NaHCO, d) NaOH

AT KRBT ATTHH ATH F GHIHE TR TR, ?

Which thermometer is used to measure the temperature of human body?

a)  StwaR——gAaw itaeY (Maximum-minimum thermometer)
b) feteer gwifaex (Clinical thermometer)

c)  ganmmer gHitex (Laboratory thermometer)

d) = 9fv &7 (None of them)
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9.

9%.

qe.

FRTAAT TAGTHE HT TGS EH G, 7
Which of the following substance is present in the lemon?
a) I+ (Acid) b) &R (Base)

c)  @auw (Salt) d) & (Sugar)

HE THRH A FAT 97 A1 Py 98 5w ?
Which type of rock is formed by cooling of magma or lava?
a) I =2 (Sedimentary rock) b) =¥ =g (Igneous rock)

c)  uRafda =gem (Metamorphic rock) d) @w@Ae (Conglomerate )

FEUNT T FAGREMIETE (P FTEATSISHFATES TR GfARaT g1 FH A a2 ?

Which acid is formed by the reaction of Carbondioxide released from the industries and
factories with water?

a)  @Eiv® = (Carbonic acid) b) |eRf& F= (Sulphuric acid)

c)  Arsfesw = (Nitric acid) d) wERIR& = (Phosphoric acid)
feguar forT 7 TSa & 2

Which medicinal plant is shown in the figure? i
a)  SEwHEr (Jatamasi) : 3 ‘-_. 0 || @
b)  fe=rEar (Chiraito) . | b \,
c)  arEigHET (Yarshagumba) _ % é-nur'"

>

-

d)  uf=r st (Panch Aunle)
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AAGTHE B ST (HET JERATATE T &7 ?
Which of following organisms reproduce by fission process?
a)  greer (Hydra) b) e ST (Tape worm)

c)  orr Arew (Star fish) d) sfwaEr (Amoeba)

TITHT qTEA AT THREBT TEABTEEHH el TSl 8l | WAeAadd! &Y HT &l ?

Among three different types of blood cells one is platelets. What is the function of platelets?

a) T I HEd T T UISe®dld I €% 9 q97 BT qaer T A4 |

They help in blood clotting which prevents the loss of blood from wounds and checks
the entry of germs.

b)  fFer fodg @€y T AT ARAATE TASH |
They fight against the germs and protect from diseases
C)  SATFESHEE RIEEEE IRRE FUeeTH [I1SE |

They transport oxygen from lungs to the body cells.

d)  gfaerE g s |

They transport urea to the kidneys.

AT FavwaT AT PUCTE & AT ?

What is it called for the smallest particle of a compound?

a) 9= (Proton) b) 9TH (Atom)

c) 39 (Molecule) d) s«a (Electron)
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R

qfg TS W K0 Heirep! [ve R 30 faveaw SPEY s S9e i & 1=y ?

If a person stood in with 50 kg of mass for 30 minutes, how much work is done by him?
a) 150 1= (joule) b) 1500 = (joule)

C) 80 ST« (joule) d) O (joule)

T TSP AT T IHB AT &l I G 7

What is the relationship between liquid pressures with their density?
a) O URTYR ATT D GAaE GRS 578 |
(Liquid pressure is directly proportional to the density of that liquid)

b) RS TR AT D AT R AT &7, |

(Liquid pressure is inversely proportional to their density)

C) TR AT ¥ HAeAP! STAT B G G |

There is no relation between liquid pressure and density of liquid.
d) U@ g2 O TR TAH AY AqH A 9GS |

Liquid pressure increases by their square when density of liquid increases by two times.

TP FIAAT GHAY g S T THISHAD! JAITAATS B A, ?

What is it called for the ratio of load to the effort involved in the work of a machine?
a)  amees wrsar (Mechanical advantage)

b)  wfaq sraTa (Velocity ratio)

c)  wrEwar (Efficiency)

d) @w@ #& (Input work)
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R4

K&

Tt qiEde! sXaTe & AiMws ? What is the rate of change of velocity?
a)  fwg (Mass) b) =« (Force)

c)  9a% (Acceleration) d) 3T (Speed)

TR THTE S THISAT (ISR TR T oo THTS AR THEEEH GASTAAE TAH g7 |
A [ESTH THEEEHE A ATARAT TS &l ?

The fundamental unit is independent of any other units whereas derived unit is formed by

combination of fundamental units. Which of the following is fundamental unit?

a) S (Joule) b) darT (Watt)

c) TR (Ampere) d) urse (Pascal)

TA® TPl IAY AETRId |

Write the answer of each question. (5%1=b)

RAB! B AT RETHIEE TS

In which part of flower pollen grains are formed?
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Y, THISAR TUTAIH TF HY I Tl |

Mention one major function of Circulatory system.

5. HAeHEA T THIH HHUETE IqHT AATqeE®ATs SIS H [ardel TART 9 ?

Which method is used to separate the components of the mixture of alcohol and water?
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R, %0 THITH IAGAT HISATSTH! AHISHT FH Y bl g 7

What type of energy is stored in a ball hanging at 50 m high?

30.  SYTETHT qTEH HA R 3ET AN WAUIEEs! ATH Seg TR |

Mention any two endangered mammals found in Nepal.
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¥ TdE TIAH Sa) Aelerd | Write the answer of each question. (7x2=14)
N, THEE A ST AT TR SR & 61 | % R el aEgied e e |

Not only the earthquake that harms human, but people are solely responsible for the damage.
Justify with two facts.

R (o )T IAH TP/ TS FE AR |

Mention one function of leaf and root of the plants.

fasmer (S2-Bn 12



R

3¥.

AT HEHT qred g7+ ¥ R derer gEeiier rares S e |

Mention two differences between arteries and veins found in human heart.

gf 40 frer Fiaa@ues! TTHT [feed! THAT FF FAT A 5 BUSHT T A6, | TP M@
Hi Bl ?

If the brake is applied to a bus moving with velocity of 40 m/s, it stops in 5 seconds. What is
the retardation of the bus?

fasmer (S2-Bn 13



M. RTER AR Y T FEIEE AR |

Write any two advantages of hunting reserve.

3’ X FAw arg Y g FRO B g 7

What are the reasons of occurring erosion and deposition side by side?
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39, U9 FR R HEEEE I 9% TRE | ¥ APUeuig FRHN M qek 72km/hr T A 9 S0
HRB! TAT BT Bt ?

A car starts to move from the rest. After 5 seconds its velocity becomes 72 km/hr. What will be
the acceleration of the car?

¥  TAF YLD IA) Aeerq | Write the answer of each question. (2x3=6)
3. feguar yyeeEd Sux fEe | (Answer the questions given below.)

a. JAT EABH BE weere | (Write the function of white blood cell)
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b.  Jar RN ®al s ? (Where does White blood cell form?)

C. AT EAHIHN FHI §aT g7 TIel GHHET I el |

(Mention a problem when the number of red blood cells lacks in the blood.)

R, SEATY IREAATR THEATS HH BN AT B A QT T e |

Give any three suggestions to minimize the effect of climate change.
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